



$$\sin(\arcsin x) = x, \forall x \in [-1;1]$$

$$\sin(\arccos x) = \sqrt{1-x^2}, \forall x \in [-1;1]$$

$$\sin(\arctg x) = \frac{x}{\sqrt{1+x^2}}, \forall x \in \mathbb{R}$$

$$\sin(\text{arcctg} x) = \frac{1}{\sqrt{1+x^2}}, \forall x \in \mathbb{R}$$

$$\cos(\arcsin x) = \sqrt{1-x^2}, \forall x \in [-1;1]$$

$$\cos(\arccos x) = x, \forall x \in [-1;1]$$

$$\cos(\arctg x) = \frac{1}{\sqrt{1+x^2}}, \forall x \in \mathbb{R}$$

$$\cos(\text{arcctg} x) = \frac{x}{\sqrt{1+x^2}}, \forall x \in \mathbb{R}$$

$$tg(\arcsin x) = \frac{x}{\sqrt{1-x^2}}, \forall x \in (-1;1)$$

$$tg(\arccos x) = \frac{\sqrt{1-x^2}}{x}, \forall x \in [-1;1] - \{0\}$$

$$tg(\arctg x) = x, \forall x \in \mathbb{R}$$

$$tg(\text{arcctg} x) = \frac{1}{x}, \forall x \in \mathbb{R} - \{0\}$$

$$ctg(\arcsin x) = \frac{\sqrt{1-x^2}}{x}, \forall x \in [-1;1] - \{0\}$$

$$ctg(\arccos x) = \frac{x}{\sqrt{1-x^2}}, \forall x \in (-1;1)$$

$$ctg(\arctg x) = \frac{1}{x}, \forall x \in \mathbb{R} - \{0\}$$

$$ctg(\text{arcctg} x) = x, \forall x \in \mathbb{R}$$



Ex.

Calculați:  $\sin(\arcsin \frac{3}{5} + \arccos \frac{4}{5})$

$$\begin{aligned}\sin(\arcsin \frac{3}{5} + \arccos \frac{4}{5}) &= \sin(\arccos \frac{3}{5}) \cos(\arccos \frac{4}{5}) + \sin(\arccos \frac{4}{5}) \cos(\arcsin \frac{3}{5}) = \\ &= \frac{3}{5} \cdot \frac{4}{5} + \sqrt{1 - \frac{16}{25}} \cdot \sqrt{1 - \frac{9}{25}} = \frac{12}{25} + \frac{3}{5} \cdot \frac{4}{5} = \frac{24}{25}\end{aligned}$$



Ex.

Calculați:  $\cos(\arcsin \frac{5}{13} - \arccos \frac{12}{13})$

$$\begin{aligned}\cos(\arcsin \frac{5}{13} - \arccos \frac{12}{13}) &= \cos(\arcsin \frac{5}{13}) \cos(\arccos \frac{12}{13}) + \sin(\arcsin \frac{5}{13}) \sin(\arccos \frac{12}{13}) = \\ &= \sqrt{1 - \frac{25}{169}} \cdot \frac{12}{13} + \frac{5}{13} \cdot \sqrt{1 - \frac{144}{169}} = \frac{144}{169} + \frac{25}{169} = 1\end{aligned}$$



Ex. Calculați:  $tg(\arctg 3 - \arctg 2)$

$$tg(\arctg 3 - \arctg 2) = \frac{tg(\arctg 3) - tg(\arctg 2)}{1 + tg(\arctg 3) \cdot tg(\arctg 2)} = \frac{3 - 2}{1 + 3 \cdot 2} = \frac{1}{7}$$



Ex.

Arătați egalitatea:  $\operatorname{arctg} \frac{1}{3} + \operatorname{arctg} \frac{1}{5} + \operatorname{arctg} \frac{1}{7} + \operatorname{arctg} \frac{1}{8} = \frac{\pi}{4}$

$$\operatorname{tg}[\operatorname{arctg} \frac{1}{3} + \operatorname{arctg} \frac{1}{5}] = \frac{\frac{1}{3} + \frac{1}{5}}{1 - \frac{1}{3} \cdot \frac{1}{5}} = \frac{\frac{5+3}{15}}{\frac{15-1}{15}} = \frac{8}{14} = \frac{4}{7}$$

$$\operatorname{tg}[\operatorname{arctg} \frac{1}{7} + \operatorname{arctg} \frac{1}{8}] = \frac{\frac{1}{7} + \frac{1}{8}}{1 - \frac{1}{7} \cdot \frac{1}{8}} = \frac{\frac{8+7}{56}}{\frac{56-1}{56}} = \frac{15}{55} = \frac{3}{11}$$

$$\operatorname{tg}[\operatorname{arctg} \frac{1}{3} + \operatorname{arctg} \frac{1}{5} + \operatorname{arctg} \frac{1}{7} + \operatorname{arctg} \frac{1}{8}] = \operatorname{tg} \frac{\pi}{4}$$

$$\frac{\operatorname{tg}[\operatorname{arctg} \frac{1}{3} + \operatorname{arctg} \frac{1}{5}] + \operatorname{tg}[\operatorname{arctg} \frac{1}{7} + \operatorname{arctg} \frac{1}{8}]}{1 - \operatorname{tg}[\operatorname{arctg} \frac{1}{3} + \operatorname{arctg} \frac{1}{5}] \cdot \operatorname{tg}[\operatorname{arctg} \frac{1}{7} + \operatorname{arctg} \frac{1}{8}]} = 1$$

$$\frac{\frac{4}{7} + \frac{3}{11}}{1 - \frac{4}{7} \cdot \frac{3}{11}} = 1$$

$$\frac{44+21}{77-12} = 1$$

$$\frac{65}{65} = 1$$



Ex.

a) Demonstrați identitatea:  $\operatorname{arcctg}x - \operatorname{arcctg}(x+1) = \operatorname{arcctg}(1+x+x^2)$

b) Calculați:  $S_n = \sum_{k=1}^n \operatorname{arcctg}(k^2 + k + 1)$

$$\begin{aligned} \operatorname{arcctg}x - \operatorname{arcctg}(x+1) &= \operatorname{arcctg}(1+x+x^2) \\ \operatorname{ctg}[\operatorname{arcctg}x - \operatorname{arcctg}(x+1)] &= \operatorname{ctg}[\operatorname{arcctg}(1+x+x^2)] \\ \frac{x(x+1)+1}{(x+1)-x} &= 1+x+x^2 \\ \frac{x^2+x+1}{x+1-x} &= 1+x+x^2 \\ x^2+x+1 &= 1+x+x^2 \end{aligned}$$

$$\begin{aligned} S_n &= \sum_{k=1}^n \operatorname{arcctg}(k^2 + k + 1) = \sum_{k=1}^n [\operatorname{arcctg}(k) - \operatorname{arcctg}(k+1)] = \\ &= (\operatorname{arcctg}1 - \operatorname{arcctg}2) + (\operatorname{arcctg}2 - \operatorname{arcctg}3) + \dots + \\ &+ [\operatorname{arcctg}(n) - \operatorname{arcctg}(n+1)] = \frac{\pi}{4} - \operatorname{arcctg}(n+1) \end{aligned}$$



Ex.

a) Demonstrați identitatea:  $\operatorname{arcctg}(2x-1) - \operatorname{arcctg}(2x+1) = \operatorname{arcctg}(2x^2)$

b) Calculați :  $S_n = \sum_{k=1}^n \operatorname{arcctg}(2k^2)$

$$\operatorname{arcctg}(2x-1) - \operatorname{arcctg}(2x+1) = \operatorname{arcctg}(2x^2)$$

$$\operatorname{ctg}[\operatorname{arcctg}(2x-1) - \operatorname{arcctg}(2x+1)] = \operatorname{ctg}[\operatorname{arcctg}(2x^2)]$$

$$\frac{(2x-1)(2x+1)+1}{(2x+1)-(2x-1)} = 2x^2$$

$$\frac{4x^2 - 1 + 1}{2x+1 - 2x+1} = 2x^2$$

$$\frac{4x^2}{2} = 2x^2$$

$$\begin{aligned} S_n &= \sum_{k=1}^n \operatorname{arcctg}(2k^2) = \sum_{k=1}^n [\operatorname{arcctg}(2k-1) - \operatorname{arcctg}(2k+1)] = \\ &= (\operatorname{arcctg}1 - \operatorname{arcctg}3) + (\operatorname{arcctg}3 - \operatorname{arcctg}5) + \dots + \\ &+ [\operatorname{arcctg}(2n-1) - \operatorname{arcctg}(2n+1)] = \frac{\pi}{4} - \operatorname{arcctg}(2n+1) \end{aligned}$$



Ex.

a) Demonstrați identitatea:  $\operatorname{arctg} \frac{x}{x+1} - \operatorname{arctg} \frac{x-1}{x} = \operatorname{arctg} \frac{1}{2x^2}$

b) Calculați :  $S_n = \sum_{k=1}^n \operatorname{arctg} \frac{1}{2k^2}$

$$\operatorname{arctg} \frac{x}{x+1} - \operatorname{arctg} \frac{x-1}{x} = \operatorname{arctg} \frac{1}{2x^2}$$

$$\operatorname{tg}(\operatorname{arctg} \frac{x}{x+1} - \operatorname{arctg} \frac{x-1}{x}) = \operatorname{tg}(\operatorname{arctg} \frac{1}{2x^2})$$

$$\frac{\frac{x}{x+1} - \frac{x-1}{x}}{1 + \frac{x}{x+1} \cdot \frac{x-1}{x}} = \frac{1}{2x^2}$$

$$\frac{\frac{x^2 - x^2 + 1}{x(x+1)}}{\frac{x^2 + x + x^2 - x}{x(x+1)}} = \frac{1}{2x^2}$$

$$\frac{1}{2x^2} = \frac{1}{2x^2}$$

$$\begin{aligned} S_n &= \sum_{k=1}^n \operatorname{arctg} \frac{1}{2k^2} = \sum_{k=1}^n (\operatorname{arctg} \frac{k}{k+1} - \operatorname{arctg} \frac{k-1}{k}) = \\ &= (\operatorname{arctg} \frac{1}{2} - \operatorname{arctg} 0) + (\operatorname{arctg} \frac{2}{3} - \operatorname{arctg} \frac{1}{2}) + \dots + \\ &+ (\operatorname{arctg} \frac{n}{n+1} - \operatorname{arctg} \frac{n-1}{n}) = \operatorname{arctg} \frac{n}{n+1} - \operatorname{arctg} 0 = \\ &= \operatorname{arctg} \frac{n}{n+1} \end{aligned}$$